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72,000,000 *17H A 72,000
50,400

7,200
14,400

S

U

O

= 13,000, 000& 13,000
3,900
9,100
OZ 018X SBHAMH A 13,200,000 13,200
9,240
1,320
2,640

EURGH

S|

U

U223t 22 uSsALE 100, 170 278,720 A178,550
70,119
10,017
20,034

S

Ml

307 2120l & 100, 170 278,720 A178,550
70,119

10,017
20,034

S

Mok

02 QltaaEx 100, 170 278,720 A178,550
SIS 2 USAIY 100, 170,000 100,170
70,119

10,017
20,034

S

EURCH

ZE012N AEsEeEdl X 6,000 6,000 0
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FH: F=QIMETA 0
g od=sisd
el ddeld Zst (etel: =3
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@,‘;OH Hlw &2
SO0H0H, = 2 &2 K& 8,500 8,500 0
= 2,550
2 5,950
307 2I2+0IA 8,500 8,500 0
= 2,550
2 5,950
02 QIAANEX 8,500 8,500 0
OHOHOH, 0l 8 Z2 28 XAAY  8,500,0002 8,500
== 2,550
= 5,950
s AEL 2 60,000 30,000 30,000
L= 39,000
2 21,000
307 2I2+0IA 30,000 30,000 0
L= 9,000
2 21,000
02 QIZANSX 30,000 30,000 0
o4, Jts4gA 298 X2 (10L)
30,000,000& 30,000
L= 9,000
2 21,000
402 RIZEXHE0I A 30,000 0 30,000
= 30,000
01 QI =2 30,000 0 30,000
OHELIELY A 2H=0] N X
30,000,0002 30,000
== 30,000
E oY 25 600 600 0
301 YLtEAS 600 600 0
12 JIEtEA S 600 600 0
OJENY B35 50,0002 12 600
ANBIETAIE BAX 9 L MET 2AH X 7,800 0 7,800
= 3,900
2 3,900
307 212+0IA 7,800 0 7,800
== 3,900
2 3,900
02 BItANEX 7,800 0 7,800
OAMBIEXAIE BAX ¢ 7,800,000 7,800
== 3,900
2 3,900
Fogx s 252,891 221,252 31,639
2 21,235
£ 54,989
= 20,418
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SA FRIME TS
Y. Fo=x A
ool Foi=x X (eel: &
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 156, 249
ZoI=X X2 252,891 221,252 31,639
= 21,235
= 54,989
= 20,418
= 156,249
AN BS 53, 180 41,541 11,639
= 11,000
2 42,180
201 Y2 y| 8,100 10,581 ~2,481
01 At222/HI 7,800 6,281 1,519
O KeZAHME 29l 6,000,0008 1K A 6,000
OLIpx=] 600,000 *3CH 1,800
02 2=l 300 300 0
02222 % MA 2502 1005 * 122 300
206 T2 4,000 3,680 320
01 MZHl 4,000 3,680 320
OSAZSE WEPY 4,000
CHEZAEE MEH 2,000,000 2,000
0IIEIZAIZ S THEHI  250,0008 x4% 23] 2,000
301 YerE A 11,080 7,280 3,800
= 1,000
2 10,080
10 BAAHI 2 A2 9,280 7,280 2,000
O MHESAT H4DS 2,000,00024 2,000
= 1,000
2 1,000
OZE9l SARHE &4 243
30,0002 *40% 1,200
OSARDE B4 24 30,0009 +36 1,080
OSAES ¥ 0K & 24
5,000 %100 +63] 3,000
ONSZARNS BA2A 10,0002 «200% 2,000
12 JIEtR A2 1,800 0 1,800
ONMHESAUER SHEH A4S
200,0002 57 £ A 1,000
O SAHZS 0t22IX 2IWEE 800
02 BAK 100,000 *5% 500
050A12H01 & = ALK 30,0002 *10% 300
307 1240 30,000 20,000 10,000
= 10,000
2 20,000
02 BI2FAEE 30,000 20,000 10,000
ONtE SAE S 3 A 30,000,000 30,000
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SN
X XH .
S Tt

el

22
J2

20
B
2

EURGH

10,000
20,000

ASIEX2t THOLS X S At

M) A

77,530

27,759
49,771

77,530

M A

5,930

1,779
4,151

5,930

01 AtR2teld]
OMIt=X SAHHH 22|

5,930,000&

BTN

5,930
5,930

1,779
4,151

5,930

206 M= dl

M) AT

58,500

22,050
36,450

58,500

OZEAMHIANS

Okt & HEuwHM AHIA

13,000& » 150 Ml CH x202

70,0002 = 150AlI CH

20,000 =150 Al CH

300, 000& 20 Al CH

M AL M A H A

M) AL

58,500

39,000
16,200
22,800
10,500
3,150
7,350
3,000
900
2,100
6,000
1,800
4,200

58,500

M A

13,100

3,930
9,170

13,100

01 MaI2EH =63

OMI=XNUHER ded&E

OMIt=EX

el =X

it

10 BAIAHIE2 oS

OMIt=X

Ol
>
]
0
Nl
[=)
-

50,0002 =150 Al CH

200,000& 45

,000& 203 x48H

M M

UM

M M

8,300

7,500
2,250
5,250
800
240
560

4,800

4,800

1,440
3,360

8,300

4,800

M) A

79,710

27,230
52,480

59,710

20,000

78,360

58,360

20,000
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SN OB D
u: xoi=x B
Ehol: FOI=X X (ol @2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
= 26,680
= 51,680
01 AtR 22/t 78,360 58,360 20,000
OLAE 78,360
o Z23tuwa 2 A== 78,360,000& 78,360
= 26,680
= 51,680
301 LetEaag 1,350 1,350 0
&2 550
i 800
10 ALAHIE &= 1,350 1,350 0
O2sna HBHAS 2 750
OXBHAIS EUIX, UK EA
5,000 *50H 3 750
= 250
= 500
Osna 51934 Ayl
5,000& *30H »43] 600
&2 300
= 300
ANHESAH ZCIUIOIE XI& A 30,471 30,471 0
= 15,235
= 7,618
i 7,618
101 el 24| 30,471 30,471 0
= 15,235
= 7,618
= 7,618
04 JIZtHI2E2NHEE S 30,471 30,471 0
OX2 S At el4d| 1,269,625 x2H «12& 30,471
= 15,235
= 7,618
= 7,618
HESAL EEZ XA 12,000 12,000 0
2 6,000
= 1,800
= 4,200
201 LetH| 12,000 12,000 0
= 6,000
& 1,800
i 4,200
02 2234l 12,000 12,000 0
OXAZAR AHBE el
3,000& *4,000EF 13| 12,000
2 6,000
= 1,800
= 4,200
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SN FEOIMEX D
HE: 4Rl =X B
Sl MEory X (25 &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o Rz
Dol =X S 5,390,459 5,506,880 A 116,421
= 2,458,333
= 189,000
= 901,922
2 1,841,199
MEory X 1,547,635 1,722,895 A175,260
= 990, 765
= 62,035
2 494,835
ZojIe =2 18,666 17,836 830
201 Yer2 Y| 10,172 9,872 300
01 AtR2elt] 10,172 9,872 300
SIEIRE=Yi] 5,900
ONREE U £2E Y 1,000,0002 1,000
OROUTER EXIE HE
1,0002! %2, 0000H 2,000
ORNAAPER 40t
50,0002 * 124 600
OBEX M 300,0002! 300
CRNUSXZANE FA AXR
50,0002 404 2,000
o2l 4,272
OROJINEER S2 BHAH 4,272,000 4,272
202 Oit| 8,494 7,964 530
01 2UoiHl 8,494 7,964 530
OZOHAREEE OfH| 8,494,0002! 8,494
ZoH4+g N 800,937 1,395,978 A\595,041
= 560,656
2 240,281
301 LBAI 800,937 1,395,978 A595,041
= 560,656
2 240,281
01 ASI2EE 2513 800,937 1,395,978 595,041
O 0442 (1699%) 800,937,000% 800,937
= 560,656
2 240,281
BOHOtS R 4T 84,913 86,202 A1,289
= 59,439
2 25,474
301 LHBAI 84,913 86,202 A1,289
= 59,439
2 25,474
01 ASIBEE 253 84,913 86,202 A1,289
ZOHOFS 4 & (51) 84,913,0002! 84,913
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SN FOIMET D
B Zojel =X S
Sl MEOHY X (9l @2
. _ _ Muo
SN -BH - S(B) - MRAY - BES Off &k il b o HRE2
= 59,439
= 25,474
20401 XF LA 8t HI Xl 2 4,816 2,064 2,752
2 3,853
2 963
01 Ysr2 Az 4,816 2,064 2,752
2 3,853
2 963
NEEEERPSE 4,816 2,064 2,752
OFOHQI XHA S| (5%) 4,816,000% 4,816
2 3,853
2 963
Zojolo 2yl K 14,426 18,608 ~4,182
2 11,541
2 2,885
01 Ysr2 Az 14,426 18,608 ~4,182
2 11,541
2 2,885
NIEEEERPSE 14,426 18,608 £4,182
OF oKl 2 I (662) 14,426,0002! 14,426
2 11,541
= 2,885
0§l S =X EH| X & 200 200 0
2 100
= 100
01 YsrE a3 200 200 0
2 100
2 100
01 A& X463 200 200 0
OFoeIS=RCt| 10,0008 +20% 200
2 100
2 100
SO{EZY FeHEAL 19,000 19,000 0
2 9,500
= 4,750
2 4,750
402 ©I2EXHZO|H 19,000 19,000 0
2 9,500
= 4,750
2 4,750
01 2I2R=EE 19,000 19,000 0
OS0EZ0jel FLIHEAL
3,800, 0002 +5 | CH 19,000
2 9,500
= 4,750
2 4,750
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2 A F0l
PSS PN
A &

el

el
x
bl
-
i
4o
fon
2
>
el
=
R
=i
0x
o
=
[
2
2
R
12
o
£l
0l%
IS

SSTMY F=HEE HE=A 10,000 10,000 0
3,000
7,000

M

402 It HE01M 10,000 10,000 0

3,000
7,000

Ml 1

01 2IZERIEE X 10,000 10,000 0
ol F=HEE HE=AE
5,000,000 24l CH 10,000

3,000
7,000

O
O
0l
0z
2

Mk

O =K LXtel X & 33,356 36,336 N2,980
16,678
8,339
8,339

MW

101 1A H] 30,844 33,600 N2,756
15,422
7,711
7,711

W

04 JI2HA S E= 30,844 33,600 A2,756
|

X2l At QI24d] 30,844,000 30,844
15,422

7,711
7,711

W

201 LEH2HH| 2,512 2,736 N224
1,256
628
628

H W

01 AtR2teld] 2,512 2,736 N224
OFOMI=ER LRelAMS ROUHE L
2,512,000& 2,512

1,256
628
628

AW

ZOH ! =S XHXI M E =<0 102,598 33,346 69,252
51,299
25,649
25,650

W

101 1A 102,598 33,346 69,252
51,299
25,649
25,650

H W

04 JIAHZ2XNHSE= 102,598 33,346 69,252
ol

2,598,000& 102,598
51,299
25,649
25,650

W
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SN FOIMET D
o Zojel =X S
Sl MEOHY X (9l @2
_ _ HE T
SH-EH . C(BH) - NRAY - BES Off &F oA il b o HRE2
02 Sl2tYA X 4,000 4,000 0
OOAZM JISES 1S 4,000,000% 4,000
= 2,000
2 2,000
ClETO DS 5,000 5,000 0
307 212t01H 5,000 5,000 0
02 SIYABE 5,000 5,000 0
Oo&R el RS 5,000,0002 5,000
pEXEE 396,713 0 396,713
2 277,699
2 119,014
01 YerBA2 396,713 0 396,713
2 277,699
2 119,014
01 ASIBHE462 396,713 0 396,713
O EZ 0N 2 (5672) 396,713,002 396,713
2 277,699
2 119,014
ZOjI=SXAlLE XY L BOARB 1,481,503 1,465,280 16,223
2 1,696
= 89,000
= 492,258
2 798,549
ZOjOl =XAL X2 923,799 689,816 233,983
= 189,000
= 135,365
2 599,444
307 212t0H 923,799 689,816 233,983
= 189,000
= 135,365
= 599,444
02 SItYMBE 345,668 208,087 137,581
ON2AZOH ARSHE 2% 64,958,002 64,958
= 33,000
= 6,800
2 25,158
O43stSHE 29 80,000, 00024 80,000
= 38,000
= 6,000
2 36,000
OZSMEIIE 22 (2H4) 66,260,008 66,260
= 48,000
= 4,960
2 13,300
OZMHOAZTIAL BAX X2 130,000
0B ESY 200, 00021 +50 + 1274 120,000
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S E
X ZH - K|
S Tt

fe=)
ool &

o
o
>
>
iz
=
0
§o
i
10
>
R
o
40
2
0

1
x
X
o
i
10
5
X
=
1
=
1%
g
0x
i
2
>
]2
=20
R
12 H
o
£l
Ol
0y

60,000
60,000

oZAH (4, F4) 100,000& »50H 23] 10,000
5,000
5,000
OZMA=SKAIE H&X K& 4,450

o F A 2503 x40 »365& 3,650
1,095
2,555

EURGH

U

Ml H1

10,0003 »40H 23] 800
400
400

578,131 481,729 96,402
578,131,000& 578,131

70,000
51,100
457,031

U

&
e
e
40
o o

O
04
Ju ooy

]
el
Ho
08

M A

o MEAL 2F X 467,536 662,910 N 195,374
348,827
118,709

Ml

307 2120l & 467,536 662,910 N 195,374

348,827
118,709

Ml 1

02 BIAANEX 467,536 662,910 A195,374
460,236,000 460,236

345,177
115,059

O
07
2
o 0
0z
e
>
>
Ao
02
==

U

O
0%
2
e
0z
i
>
>
i
iy
0

WEIES=

(- o

7,300,000& 7,300

3,650
3,650

Mk

ool WEBEEITP DY 2,120 1,786 334
1,696
424

M

301 et as 2,120 1,786 334

1,696
424

M

01 MaI2EH =6 2,120 1,786 334
OMEEXRINF X2 (249) 2,120,000& 2,120

1,696
424

M

ESOQ HSHO L HSR2 B2 9,348 9,348 0
4,476
4,872

Ml 1

301 YErE AR 9,348 9,348 0
4,476

H
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2N =
X

HE: el =X B
Sl ZOHU=RAL KB L BN (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
= 4,872
01 Al B X453 9,348 9,348 0
OZZZJ(ALMMIISHN) HEHHO X
2 6,688,0002! 6,688
= 3,344
2 3,344
OSSO (HASHRIIZZ0H) HSEH O
e 2,000,000 2,000
= 1,000
2 1,000
OFs2I22 X8 60,0002 112 660
= 132
2 528
Zojl BoAL U &yl N 7,200 1,200 6,000
= 3,600
= 3,600
301 LB A 7,200 1,200 6,000
= 3,600
= 3,600
SIEEEERSTE 7,200 1,200 6,000
OF21010] Zojel A4 MEI| 23
1,200,000 1,200
= 600
2 600
OFAHQ 01SYAHS 23 X2
6,000,0002! 6,000
= 3,000
= 3,000
Z0jel 015 BN 71,500 100,220 £28,720
01 LsrE A 6,000 6,000 0
01 At BZ X453 6,000 6,000 0
OHSHEIN 225 2 X
300, 0002 x20% 6,000
307 L1201 H 63,000 63,000 0
05 BI2tSIEt3 63,000 63,000 0
OZHOIA A 2Y(20H)  42,000,0002 42,000
O0lES2SRE 2 29 21,000, 0002! 21,000
405 THAHE S 2,500 6,220 A3,720
01 RAUSEHSH| 2,500 6,220 A3,720
SERNFSED] 250,0002 * 10CH 2,500
ROHQI ALEIEHO ECH 762,504 636,499 126,005
= 271,170
= 150,891
2 331,443
B OHQIAS B S X & 277,195 222,820 54,375
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S E
X ZH - K|
S Tt

fe=)
ool &

SNBSS - MEAY - BES 04l &k 24

=1

(R

121
==
El
i
oy

el

194,037
27,719
55,439

MW

307 2120l A 277,195 222,820 54,375
194,037
27,719
55,439

MM

05 BIZtRAE =S 277,195 222,820 54,375
ol A3 E S K& (43Y) 277,195,000& 277,195

194,037
27,719

55,439

H

PSRV N0 S==p) == DNE-ZN goai 110,190 96,000 14,190
77,133
16,528
16,529

MW

307 2120l & 110,190 96,000 14,190
77,133
16,528
16,529

H W

05

=
A
40
Jn

on op

110,190 96,000 14,190
HE XIS AtY (559) 106,590,000 106,590
74,613
15,988
15,989
O LT JA(3Y) 3,600,000& 3,600
2,520

540

540

O
04
2
=]

H W

AW

SSHMLY =01 =& X&E 206,000 168,760 37,240
92,400
113,600

Ml

307 2120l & 206,000 168,760 37,240

92,400
113,600

Ml H1

02 BIAHANEX 206,000 168,760 37,240
ol E=0l=% XI& 206,000,000 206,000

92,400
113,600

EUNCH

SSTMHY TSI 14,359 14,359 0
5,744
8,615

Ml

307 2120l & 14,359 14,359 0

5,744
8,615

Ml 1

02 QIZtFAEX 14,359 14,359 0
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2N =
X

Zu: mojol =X S
Sl ZOHO AP EO 2 (9 E2
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
O=3HMe NHEXALEH K&
14,359,000 *1JH &~ 14,359
= 5,744
= 8,615
ZHojel XA 47,000 47,000 0
& 17,500
= 29,500
307 BI2t0| ™ 47,000 47,000 0
& 17,500
= 29,500
02 QI2tAAE X 47,000 47,000 0
OZONOIE atdl2t Zestn 2o
000,000& x23] 12,000
& 6,000
= 6,000
OAIZZOR! JI=ZME WS 5,000,000& 5,000
& 2,500
= 2,500
OHEAILE XJHEH 29 30,000,000& 30,000
= 9,000
= 21,000
ZoHel Al XA 61,800 41,800 20,000
307 2I2t0l™ 61,800 31,800 30,000
02 QI2tAAE X 61,800 31,800 30,000
OANZZMe =2=AM HMZ 4,800,000& 4,800
OAZLEQ A=A 2 10,000,000& 10,000
O=0tol AtES =3tua 2 2,000,000 2,000
Os=sotelgal 23 XA 5,000,000& 5,000
OFMLIINEXNALE 22 35,000,000 35,000
OHM=RL23 =24 5,000,000& 5,000
ZOHel A X3 45,960 45,760 200
201 Let243d| 3,500 3,300 200
03 A2 3,500 3,300 200
OFM=XSAUS &HILA e Xt
00,0003 +7CH 3,500
301 LEEAZ 10,460 10,460 0
10 EALAHIZEA S 10,460 10,460 0
OAZENL =3I Megus & A3 &It 2
& 30,000& 6% 2 360
OOl NP DR P
5,000 20 43| 400
QFe f2=3sdz Y ANHFRIHH HFOUHAI
sS4 3,000 300 900
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